DANCOVER®

Manual

for
Mini Greenhouse ASTRA

02-03-2022






Technical certificate/GREENHOUSE «ASTRA»

The assembly and operation of the “ASTRA” greenhouse should be carried
out strictly in accordance with the instructions and operating rules set forth
in the technical certificate. The technical certificate should be kept

Description

The “ASTRA” greenhouse is designed to create a favorable microclimate for growing
garden crops in allotments and family gardens.

The frame of the greenhouse is made of galvanized steel pipes and galvanized
steel profile sheets. It is assembled with screws, nuts, and self-tapping screws. The
kit comprises everything you need for fixing the glazing. The height of the installed
greenhouse is 82 cm from the ground level, the posts are sunk into soil by 25 cm.
Upon placing the assembled greenhouse on the installation site, sink the angle posts
into the soil making sure that your greenhouse is level and square.

Operating rules

Before starting the operation, the greenhouse should be assembled and installed
according to the instructions. When the greenhouse is installed by third parties, the
buyer should check the assembly quality for compliance with the instructions.

Do not install the greenhouse close to buildings and trees from which snow or ice
may fall. The distance of at least 2 m is recommended.

The greenhouse is designed to withstand the wind speed no more than 24 m/s.

It is not necessary to remove the greenhouse glazing for winter, it is required to
keep the greenhouse open and to slide the inner lid under the outer one.

J

Technical certificate/GREENHOUSE «ASTRA»

Cleaning and washing sheets of polycarbonate

1. Rinse the sheet with warm water.

2. Wash the sheet with a solution of mild soap or with a household detergent and
warm water, using a soft rag or a sponge to remove dirt.

3. Rinse with cold water and wipe with a soft cloth.

Never use abrasives or highly alkaline cleaning compositions for cleaning
polycarbonate sheets. Dry rubbing of the surface will damage the protective layer of the
cladding and shorten its shelf life. Never rub the surface of polycarbonate sheets with
brushes, metallic cloth or other abrasive materials.

When disinfecting the greenhouse from pathogens causing fungal and bacterial
diseases, do not use «sulfur blocks» to avoid frame corrosion (blackening).

Warranty liabilities

1. The manufacturer is responsible for the completeness of the product.

2. The manufacturer is responsible for assemblability of the greenhouse in accordance with
the instructions.

3. The manufacturer is responsible for the greenhouse durability in the specified weather
conditions.

4. Term for making claims is 24 months from the day of purchase

Terms of warranty provisions

Warranty does not apply to cases of:

1. Greenhouse installation in violation of instruction requirements
2. Violation of the rules of operation.

3. Inappropriate use of the greenhouse.

4. Deformation of the greenhouse as a result of ground movement.
5. Floods, hurricanes and other natural disasters.

The company reserves the right to make changes in the greenhouse design



List of equipment for “ASTRA” greenhouse List of equipment for “ASTRA” greenhouse

Ne  [marking view denomination length, m |q-ty, pc. Ne view denomination Ienr%th, g-ty, pc.
1 package 23 4 e M4x35 screw 4
1 2 = Longitudinal board 1,75 4 24 - M6X25 screw 20
2 1 Transversal right board 0,8 2 25 (W) M4 nut
3 1-1 Transversal left board 0,8 2 26 L Y] M6 nut
4 19 _ Angle bead 0,6 4 27 el Handle
5 17 | =" I Inner purlin for handle 1,64 1 28 [ W 3.5x9.5 self-tapping screw 48
6 12 | == nner purlin 1,64 1 29 o 4.8x19 self drilling screw 76
{ e s
7 5 === | DU lin foOr handle 1,7 1 30 @I 4.8x19 self drilling screw 18
r
8 3 JE— § T 17 1 31 W Lock washer
9 8 & 5 | Large arc right radius 0,47 1 32 : Washer© 4
33 Rubber bushin 2
10 8-1 By = | Large arc left radius 0,47 1 = £
4 package
11 11 - * | Small arc right radius 0,44 1 34 \_‘ Lid seal 1.75 2
12 | 111 | = = |Small arc left radius 0,44 1 35 e Lid seal 0,47 2
13 7 _:'.:::;_::-::;;::x:::f Large arc vertical radius 0,45 2 36 \-J Inner lid seal 0,4 2
14 10 | ———— Small arc vertical radius 0,42 2 37 _] Seal between the lids 1,69 1
Side angle for .
15 . bolyoarbonate 0,88 4 38 _] Seal between the lids 0,44 2
Side angle for
16 R S et 0,85 4 Polycarbonate
Angle for polycarbonate] 1,75
17 - . 0,45 2
outer lid ’ 39 A Outer lid polycarbonate X 1
2 package 0,76
18 6 L 0,7 2
m arge arc 40 B Outer lid sidewall O,)A(W 5
19 9 /,,,»»\ Small arc 0,64 2 polycarbonate 0.47
3 package 1,7
20 . Plate 2 41 C Inner lid polycarbonate X 1
0,7
- - .s---"""'" e : Inner lid sidewall 044
22 . g/h M6x14 bolt 4 42 D polycarbonate X 2
0,44




i «3 package» «QT z

W 12pc. | s
H LB
Fnsssssenssssssssssssorsunsannsd _ b
kT

i Ne4 from = 4
i «1package» B
i — 1pei 7 (
19

i Ne20 from

i «3 package i Ne22 from
S ! «3 package» }

(b 27

e N Ne32 from .
iNe26 from £} «3 package» i
i «3 package» \ = H

Ne28 from
i «3package»

i N4 from ‘
{ «1 package» /j
o — 1pc.i {

9

..... i Ne4 from
" «1 package»

== _1pc.§

No32 from D pessesrisisniiiiiiniienans .
{ i i Ne26 from i
: «3 package i i3 package»

: ?{2pc.§

Ne32 from R
«3 package» b’%&.

Sy S

i «1 package»

~ 1pc.i
]IO.

....................




Ne8 from
«1 package» 1 pC.
CoPemnesE

{Ne19'from A S
i «2 package» H

Nel3 from
«1 package»
PR—. o o}
i No18 from
i «2 package»

Nel1 from
«1 packagf»

s - PC.

Ne5 from
«1 package» 1 pC.
CoPernest

Ne6 from

«1 package»
. 1 pC. s «1package» 1 pc. Ne14 from

«1 package»
p g2

. pc.

Ne10 from
«1 package»

pss— o]

Ne12 from
«1 package»

..........

iNe24 from  § |
i «3 package» i

i \W2pc



10

i Ne21 from
«3 package» i

N°31 from

i «3 package»

Ne21 from
«3 package» :

6 ©'Ne30 from RO :
H : .. iNe30from

i «3 package» : :
: p g : i «3 package» :

PNNe29 from
i .«3 oackage» :

i Ne16 from
P package»

i Ne38 from
"t «4 package» i

i Ne16 from
i «1 package»

i Ne21 from
i «3 package» :

e N3G From
{3 package

i N33 from ¢
¢ 2pc i { «3 package» |

11



— . FRedE from - 1 package»

i «1 package»
i 2pc.

1 pC.

.............................

i «1 package»

f e 2pC. {

3 package» :
P 1pe

i «1 package» |
: 1 pc.

<

12 13



14

i Ne27 from i
i «3package» :

o233 from
i «3 package»

i Ne25 from

i «3 package»
i &g 2pc.:

i Ne23 from
«3 package» :

15



DANCOVER®

Contact information

Austria

Estonia

Belgium

Norway

m]xhix =
- BT
i
Bpcd

Sweden

m ;I,:_,:':ﬁ -'-
m] | e

Croatia

France

o7

o g
|':!":"'=-'al' -
O [t

s

Denmark

o

Sl

Germany

Lithuania

For more information please visit: www.dancovershop.com




